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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):

Read the passage and answer the questions that follow:

“What does Mr. Darcy mean,” said she to Charlotte, “by listening to my conversation with Colonel
Forster?”

“That is a question which Mr. Darcy only can answer.”

“But if he does it any more | shall certainly let him know that | see what he is about. He has a very
satirical eye, and if | do not begin by being impertinent myself, | shall soon grow afraid of him.”
On his approaching them soon afterwards, though without seeming to have any intention of
speaking, Miss Lucas defied her friend to mention such a subject to him; which immediately
provoking Elizabeth to do it, she turned to him and said:

“Did you not think, Mr. Darcy, that | expressed myself uncommonly well just now, when | was
teasing Colonel Forster to give us a ball at Meryton?”

‘With great energy; but it is always a subject which makes a lady energetic.”

1) Who was listening to Elizabeth's conversation?

A) Colonel Forster TeChOfWO rl d s I n

)
B) Mr. Darcy
C) Meryton

D) Miss Lucas

2) Why would Elizabeth be impertinent?

A) She did not want to grow afraid of Mr. Darcy.
B) She wanted to ask Mr. Darcy about himself.

C) She wanted to eavesdrop.
D) She was impatient.

3) Why did Elizabeth speak to Mr. Darcy?

A) She was impertinent.

B) She was defied by Miss Lucas.

C) He addressed her first.

D) There was an important matter to be discussed.
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4) What did Elizabeth speak to Colonel Forster about?

A) About Mr. Darcy.

B) She was moving to Meryton.
C) A challenge she was facing.
D) A party at Meryton.

5) What is most likely to be true with respect to Elizabeth's action of speaking to Mr. Darcy?

A) She wanted to tell him about Colonel Forster.

B) It was her reaction after she was defied to speak.
C) She wanted to get around him.

D) She wanted to introduce herself to him.

6) Fill in the blank with the correct option:

You may your leg if you don't know how to while skating.

A) brake, break TeChOfWO rld . I n

B) break, break
C) brake, brake
D) break, brake

7) The phrase "encroach on something" means

A) to unravel a truth
B) to use up too much of somebody's time

C) to pay the price of someone else's expenses
D) to fill the gap

8) Fill in the blank with correct prefix or suffix:

His play nature made him very popular.

A) ward
B) full
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C) ful
D) like
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9) Which of the following words is correctly spelt?

A) pneumonia
B) pnumonia
C) neumonia
D) newmonia

10) The phrasal verb 'Appertain' means TeCh OfWO rl d 5 I n

A) to do something appreciating
B) to remain calm and quiet

C) to belong to something

D) to help someone
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Section 2 - Paperl-Education and General Awareness
No. of Questions: 5

11) Which of the following is the CORRECT way of assessing the concentration of faecal pollution
in water?

A) Measuring the pH of water

B) Determining the number of Escherichia coli bacteria in water
C) Measuring the nitrogen content of water

D) Determining the number of Helicobacter pylori bacteria in water

11) FIRYE aiQ 6066 FR6a A9 gessa AILTR IRRE 5ia A0S QIS 2166 ?

A) gea ave g aidel
B) @60 260052 621@ Q1R1ga A°¢Iq RiIad @aal
C) eea sinsgiees adniaq aide!

D) eeea cedcaieuga aiecaid R1Q1ER A°¢IQ FAI0d @aQl

12) Proportional representation adopted in Indian constitution to elect which of the following?

A) Members of lok sabha TeCh OfWO rI d . I n

B) Members of state assemblies
C) Members of lok sabha and Rajya sabha both
D) President, Vice President and members of Rajya sabha

12) 39Rdo A QIRIQ 908 @89 AIE NING1A AAIRER 2IRAIGR gERIQR 906 QAIAIRE ?

A) EMRAN QXY
B) QARY RUFANQ A
C) QR EAIRAN I QAURIAN AQQY

D) Qigad, @0eI8ad e aisias aeay

13) Which one of these is a non-formal model of imparting education?

A) Open University
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B) Home Schools
C) Government schools
D) Evening Schools

13) wenQ 6066 dagele edaia ve 2¢-3AFIRR asen ?

A) 98 SqRuIea

B) 92 Saueagee

C) 29QIa1 @4Ieagee
D) Qa4 @auRagee

14) According to the Report of the Committee to Advise on Renovation of Higher Institution, which
institutions are considered 'bright spots in the dismal scenario of higher education'?

A) lIMs and IITs

B) Medical Schools

C) Industrial Training Institutes
D) Teacher Education Institutes

14) ofica G6ald 2QAIA1 28 ATFIRR 21Rd AFINER aaNd 621, 60¢ 2QARYER ‘@LdaI0 2QITee adoea 2IgIa A|S

G306 NINER’ FCROR! QRN ? Te C h OfWO rI d o I n

A) RURNAYPR 6 AUKARTYFS
B) @901 @RaQee
C) 99 0lAn 2RARYRR

D) 39@ aal 2gaingse

15) The Education Commission (1964-66) recommended a Common School System of public
education. The Common School System meant that

A) All schools follow the CBSE board

B) All schools follow the ICSE board

C) An equitable quality education to all children
D) All schools follow respective state boards

15) &l 2leaial (€ ¢ 9¥-99) ARIQE VA 9@ AUQE FMILD LYY gaIda Q@QS\I | 92 QRIE FYIRA MY 6208
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A) ana So100 B3R coq aga0a 8 Techofw

B) ang aueo 2IRANQR 6216Q 20206 @68
C) 22 @RI A 1@ geia gaIge aal

D) ang Gauea &8 aisy 60I9Q 2A08 €03
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) P, Q, R, S and T are five kids sitting in a circular table. R is sitting to the immediate left of T and
P is sitting between S and T. Who is sitting to the immediate left of R?

8 0982
0 VO W

16) P, Q, R, S & T 9I°Q 9a Gal 9@ 9RleIa 669n6a @288 | R, T @ g ain aigea 9a8 v P, S ver T A1%6Q @3 |
R @ Qe @In aigeq @4 9da ?

A)S
B) Q
C)P
D)R

17) In a certain code language, if the word ANALYSIS is coded as AANYLISS, then how will the
word CALENDAR be coded in that language?

seaenaor | @chofworld.In

B) CALNEADR
C) CLANEADR
D) CLAENDAR

17) <@ 644 caie aiaica, ad ANALYSIS ae AANYLISS aiesa caie 62108, 6668 CALENDAR @G q 622 aiaisa
308 cqle A9 Q7

A) CALENADR
B) CALNEADR
C) CLANEADR
D) CLAENDAR
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18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

Which company among A, B, C, D and E got the highest profit? (assuming that no two companies
got the same profit)

I. B got more profit than D but less than E.
Il. A got more profit than C,but less than E.

A) 1
B) 2
e)a
D) 4

18) SINYS 999Gesa 630 969 : TeChOfWO rld . l N

¢. 9@ YA€ | anaya AN caaiq Acaq 26T |
9. 96 QA€ Il ¥gbal anue QAR caalq a6 26T |
7. 98 A | e |l 2eag IR0 FZIDE 6669 ANANIN VAR 621 AlEl Ay 266 |

¥. 96 Q€ | ve || anag 9aI0 G218 6069 @ anAYe QAR 69e! el adug R6< |

A, B, C, D 9 E a6 60d astio1 a9igie aiet aiaql ? (AR Q@Qldia @ 691ad Qb @1 AP QIR AR FIRIS 1)
. B, Do a8 @g E 0Q @ aie aigqi |

Il. A, Coade @g E 0 en Qe aeql |

A) ¢
B) ¢
c)m
D) ¥
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19) Roshan started walking towards west. After a while, he met his father and then both turned left
and continued walking. Then they turned right and continued walking. Roshan's father stopped on

the way but Rohan continued to walk. Then he took a left and continued walking. In which direction
is Roshan walking finally?

A) East

B) West
C) North
D) South

19) squaq, 0fa 2EQ SRR AR F6R | A8 AN A6Q, 6Q OIF TOIF 6ATER IS A6A ANA ANQ A CIRNIQ ATER | VAR 6AAIER
QI16Q R SIRAIR ATER | AT Tol QYR UCR AT FF ALY LIRAQ ATER | VAR 6Q Q& QAR R IR AITER |

69T6Q caIsR 6RQ Q6 2P FIRES ?

Techofworld.In

A) 98
B) 98¢
C) eaa
D) @84

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

How many chocolates does Rahul have?
|. Rohit has 5 chocolates more than Rahul.

Il. The total number of chocolates with Rahul and Rohit together is 35.

A) 1
B) 2
C)3
D) 4

20) YNNYL gg9sesa 36 @0g :
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0. 9@ QA€ | anauia ARACRIQ B62a 26T |
9. 9@ QA4 |l Wgizl anaie LA ceelq acaa 26T |
7. 96 Y4 | v Il anag QIO FZIAS 6069 ANAIR RAQ 64! Alel AdYIg 266 |

¥. 9@ QQQE | v || anng 9eI0 F2Ide 6060 & ANl AAR 62! Al adug g6 |

QAULM AIGER 6REOIT PERNEME AU ?
l. 60186 aId6Q QIR 260Al 8 & C6RI6NE IR 2T |

Il. Q2R 1&* 6QITOS QRIS CERIEATR P 6208 MB |

»e Techofworld.In

B) 9
c)™
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) What is the primary objective of UGC?

A) Generating resources for primary education
B) Conducting examination at different education levels

C) Regulating and maintenance of standards of university education in India
D) Regularization of pubic private collaboration in education

21) 9F3a 9@ Q6 @€ ?

@l Qlel @ Q98 @del

) a8q 3l 2060 a018 FARR!
) QNG FYRNIRA FTQ AIRQ FARE I&* A86IEe8d RAR!

49l 69960 AEAR-YBUE A6 FATRRE QAR

22) When a teacher wants to convey a message to a student/s, the message can be in the form of

Techofworld.In

A) Thoughts, Words, Symbols and Sounds
B) Words, Symbols, Sounds, Maps

C) Words, Mental image, Sounds, Maps
D) Words, Symbols, Sounds, Mental image

22) 60606065 966 2GR BIQ/AIRS 1@ @6 AZINAIG 915, Q6| ARINER 6RARAER |

A) 891, a9, go1@ e° R

B) €9, ge1e, Y@, AIR6Q

C) 99, QIrde §g, Y7, ARGY
D) %, go1e, §@, AIede &g

23) When did NCTE receive an independent constitutional status?

A) 1993
B) 1983

Pana11nfdn
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C) 1997
D) 1987

23) 1ed0Q 669 1@ AR ARG QRIS AIQSAR ?

A) ecem
B) ecran
C) e¢eo
D) e¢ro

24) As per the Programme of Action (1992) what was recommended as the minimum percentage of
female teachers appointments at elementary level?

A) 50%
B) 45%
C) 80%
D) 75%

24) qidugaiea Qidign (e ¢ ¢9) aeaa JINAR gasa addq 6REC goae ndq Ase AQI0 QAIRE SAIAIRARI ?

v Techofworld.In

C) 80%
D) 75%

25) The educator who advanced the idea of the five formal steps i.e., preparation, presentation,
association, generalization and application in teaching was
A) Pavlov

B) Friedrich Herbart
C) Skinner
D) John Dewey

25) 92 89186, 96 ared Aaqde ae68aa QI 216Q 69ad6R A2, 98, QAYIAR!, ATOR, AUNELRE Ie° ASIAREH F6AIT
A) 680

B) €8¢ 20Q¢'

C) a9
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D) @@ &G

26) Which of the following statements is the best example of situated cognition?

Children grow vegetables in the school garden and hold market day for the villagers.
Children watch videos about growing different kinds of vegetables and their prices.

The teacher arranges for a farmer to come and lecture to the children about agriculture.
The children attend farm product exhibition and write a report.

gog>

26) FqRge QOGP MIQ 6R9E Jo 2QRTa A6IeN QIRAE ?

A) Ganier dRa Qdicea aRARRI Q8 @aS I GINRIAT g 9RIQ ¥9Q ARR K0S
B) daiciee @0q gRIaa aR0AQ! I 6AAIRGA R Q8 Gaa6a GF6 6asd

C) 99 @68 Qae UQ TAAIRG 98 FVACA ZRUAR AR MY @03

D) SRIfI6R @56l aQe gedaiea 6aIs 923 6 1@ S6aIS 6RHd

27) Which of the following should be used by the teac

to contl ously motivate the st ts to
take part in discussions and answering questions? Rlv O ridJ T

A) Using reinforcements like praise, excellent, good etc.
B) Using stimulus variation

C) Making the classroom conditions attractive

D) Self motivation and interest of the teacher

27) aQiEhnieq ACAISRIER PAgRE *AQ! I&* Jga QAR 6291 AIR RAIFE NLER 694 6291 Al FIRAYE AUQ 6Q6E IR FAITS!
80 ?

A) 9¢ral, ag8, Oa QAOUIE QVIRQEQ QIR KRS
B) @92 00¢Rg Q1210 @8

C) 6441926 2QgIq ARTEIA @A

D) 990G 2I7 6gadl Ie* 2GR

28) Language Acquisition Device (LAD) needs Language Acquisition Support System (LASS) for
activation and development. By this Jerome Bruner means that

A) girls and boys should study together so that their language development is supported by each
other

B) without the teacher and teaching methods no child can learn any language
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C)

without the support of society the innate language ability cannot be activated
D)

society should support language learning in schools by donating the language acquisition
device

28) Qi8I 2GRE 20R0d (INIG) AFACI Y& FRId QIR NIBI ANFGRE ARG AN (IAINAYQ) 2IeaYR @6 | 1Ll QI sw6ain
9aa 9% 2d Q] Q8

A) 2z e QuAIeR ¥QID 2R @GS 269 ARIYIA! 6ANIRTA RIBI QI ACINR ARIAY AR
B) 98 e daQIe gaIR A1 6F1ad ANl @3 QI SgaIte? QI
C) MIeaande 0l 2eFe MBI G6! AR 621RaIRe AR

D) adie I8l 2yged aaead QIR @8 FMNIPAER ATl FRIQ ANR FAR AR

29) Which of the following satellites was launched on 30 August 1983 with modified advanced
technical equipments for the use of educational broadcasts through television in India?

A) Satellite Aryabhatta TeChOfWO rl d . I n

B) Satellite INSAT-1B
C) Satellite Bhaskara
D) Satellite INSAT-1A

29) F69)I8 IR 699 AAYL NRGER 6ERRRR AIRINER 68VGA JARGER IR FAE8 TR ARS 63T0R
QURAE A2 1983 291 30 CIAGER NG FAUAIRYRI?

A) @09 IS
B) @age @63< -1B
C) aage AU

D) aage @63] -1A

30) The type of learner who prefers to understand content by listening and speaking in situations like
lectures, and group discussion is referred to as

A
B
C
D

visual learner
kinesthetic learner
auditory learner
sensory learner

— N S S
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P

30) daigh geie, 898 96! 6 6a1F 2RISR 08 08Fo6a gaiel e @29 ARINER FEA9AQ 286! 0A0 @03 0121 6208

A) Qaue@e asieh T h f I d I
B) aicide aidienia 6@e daidh e C O 0 r b n

C) 6916! Saielf
D) 2saeqaie dai
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) Q691D FRIQ 699T 4@ 9Q YF g6L?

A) &
B) @
C)a
D) &

32) ‘aq’ @aad 4990 9 40 QI |

A) gede
B) a6
C) anie
D) gea

33) GIRYE FRAFAT FRIQ 694F IR JRILIER F68TE?

nae | @chofworld.In

B) @0
C) eaq
D) ais

34) ‘23960’900 aQIGIIERINR §R I |

A) *qaee

B) friaee

C) zaea
D) @qaie

35) ‘Q0Q QUSY FI6A Q'€ 97
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A) Q286 Q0@ 28
B) Qag6q Q03
C) Qagsq dIga 22
D) gas6q goya

36) 2.6, @, 719299 @ 4T QRIAN?

A) 6y
B) aiday
C) aidge
D) 6niee

37) ‘Qr AIQ NeLIQ RAANYR QAATYS 9e8Q QUS|

neee | @Chofworld.In

B) @ela
C) g6@ia
D) alQ

38) ‘@an aun 962l 9Fa 28 §qad aQ |

A) 2I0a @dQl
B) 630 629
C) @1 694l
D) AI¢ 629

39) ‘@Ie AR ager’ 9Fe 2d Fead e

A) @3 agel

B) qgl 6210@a
C) ak agae!
D) AQieas aaql
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QAR QAU
QIR
QAR I8
a
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42) G618 FIQ 624 IRTR AR R 28 6 &G 2 AAIR?

- 1 echofworld.In

(alala]]
6QIQURY
9e6QIBa!

A
B
C
D

43) ‘adee’ adea ‘AR’ goya 6QIe6a 600 a8 QIR |

A) o9,
B) 21926,
C) 6@egie
D) ¥faie,

44) FORYC FUIQ 6766 IR T6ATEA TS AR AAULAE?

A) 21620166 QG

B) g6l @66l @

C) gral1 QIRa

D) 21048 RIGHQIR gas
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45) ‘8’ aea gdae QI8 |

v 1 echofworld.In

B) @2
C) saiel
D) aee
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) Which of the following equations is a linear equation in one variable?

A)3x+4=12
B) 2x - 5y =4z
C)3x+y+5z=6
D)3x?+1=4

46) F6I9 ANRQEQFR MUQ 6QE ANRAEE 6208 6aITN AN PR QGO AMRRE ?

A)3x+4=12
B) 2x - 5y =4z
C)3x+y+5z=6
D)3x?+1 =4

47) What is the area of the circle which circmscribes a right angled triange whose base and height

are 9 cm and 12 cm resPeCtive'y?T h fW Id I
echofworla.In
A) 56.25 T sq. om

B) 48.75 1 sq. cm
C) 64.5 msq. cm
D) 36.25 1 sq. cm

47) ¢ 6afl A 9e* €9 6aF a0 388 1@ ANERIEN GRea UAERE 1@ QRAIRIA 6390 6HTR 6760 620 ?

A) 56.25 11 ad 6ad
B) 48.75 1 o4 ead
C) 64.5 1 a¢l 6ad

D) 36.25 1 «¢ 6ad

48) Which of these numbers in between 500 and 1000 are divisible by each of the numbers 8, 12
and 157

A) 640, 700, 760, 820
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B) 600, 720, 840, 960
C) 690, 820, 850, 920
D) 720, 840, 960, 980

48) 500 @ 1000 cea gel 9@ TGP AUQ 6266 8, 12 v 15 el QoI Fe9 629 ?

A) 640, 700, 760, 820
B) 600, 720, 840, 960
C) 690, 820, 850, 920
D) 720, 840, 960, 980

49) The marked price of an article is ¥ 500. Successive discounts of 10% and 20% are offered on it
and the product is sold. What is the selling price of the article?

nuso | echofworld.In

)

B) % 400
C) % 360
D) % 300

49) 9 aicaae 486 gy T 500 1 9ase 10% e 20% @ 2aIae GI F2IARE 1e° AR 3@ 6208 | AR FRA M 660 ?

A) % 450
B) % 400
C) % 360
D) % 300

21/ 40

50) If the system of linear equations 3x + 4y = 12 and kx + 12y = 30 has no solution, then what is the
value of k ?

A) 1
B) 3
C)9
D) 12

50) @ sasiee aneadae 3aa 3X + 4y = 12 e kx + 12y = 30 @ 63163 QAL Q2N 6062 @ @ FlIY 660 629 ?

A) 1
B) 3
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C)9
D) 12

51) The point of intersection of all the angle bisectors of a scalene triangle is known as

A) centroid

B) circumcentre
C) incentre

D) orthocentre

51) ue fanIg §9Ra AN8 6R16Q ANGE S 604IA ANG 6RIEQ 8 7Y IBALER REIF4

»amee 1 €CHOTfWOrld.INn

B) adeeg
C) 21236@9
D) Qnseg

52) What is the HCF of 1235, 2340 and 79?

A) 15
B) 5
e)a
D) 1

52) 1235, 2340 1 79 @ 6Qi6, 660 ?

A) 15
B) 5
C)3
D) 1

53) A loan of % 20,000 is borrowed for 1 years at 10% p.a compounded half-yearly.The amount to
be repaid is

A) %20,100

B) ¥ 22,050

C) % 24,200
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D) % 28,600

53) ¥ 20,000 ¢ a4 1 ad a @ife 10% Q 206 FAARE 6a986a QM ASUTR 6L 0RQE 2491 6069 ATCAR *EIQ 3!
oQl 6208

A) ¥ 20,100
B) % 22,050
C) % 24,200
D) % 28,600

54) A mixture contains alcohol and water in the ratio 5:4. If 6 litres of water is added to the mixture,
the ratio becomes 5:6. The quantity of alcohol in the given mixture is

ewess | @Chofworld.In

13 litres
14 litres
15 litres

A
B
C
D

54) <@ dgaca 5: 4 2QUI06a URCRILR I 9 Q27 | A3 @ fgaca 6 Fca aid FaaN, 606 agaIe 5: 6 QAN | geR
fga6Q ANCRILAR AR 6208

A) 12 Gea
B) 13 dsa
C) 14 &sa
D) 15 dea

55) Identify the odd one out from the names given below for a set with no elements.

A) Empty set
B) Void set
C) Null set
D) Closed set

55) 6316Q QaIQle f2QI 696 IR AR FRAIRYL FINYFRQ §98Q Fg¢ @eg

A) ¢id 6a¢
B) 9@ 628
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C) 994 626
D) % 6a¢

56) If xA2+(1/x72) = 12, then the value of x\4+(1/x"4) is

57) How many common tangents can be drawn to 2 circles which neither touch nor intersect each
other and one lies outside other?

Techofworld.In

o b WN

)
)
)
)

o0w>

57) 90t QR A:6a 61661 A IR PAAINAIRS Q121 10ANQ A @6a FIT Fal F6RT @6Q AT I 6AITN AN QIRIER ABaN ?

A) 2
B) 3
C)4
D)6

58) 50 litres of a mixture of milk and water, contains milk and water in the ratio 7:3. What is the
amount of water to be added to the mixture to make the ratio 1:1?

A) 20 litres
B) 25 litres
C) 30 litres
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D) 35 litres

58) 50 fca aia ve* 90 fgaca, S1a v 8@ 7:3 2QaI06a 028 1 29010 1:1 ofal aid Agasa 6aI9 *AIARIQ AL KA AFAIE
6@60 ?

A) 20 dea

B) 25 Gea

C) 30 fee

D) 35 Aca

59) A finite set contains p elements, then the number of proper subsets for this set is

A) 2P

B) P’
Cc) 2?-1
D) P’ 1

59) IR AIAe 626 P AAINYFQ IR F6Q, 6069 1@ 636 Al AAYS AVECACYF Y| 6208

» 2 | echofworld.In

B) P’
C) 2P -1
D) P’ 1

60) How many 3 x 3 squares are there in a chess board, considering each box as unit square?

A) 36
B) 25
C) 16
D)9

60) g60i@ QPR YRR AFEAE AR FAR AG IR 664 69166R 660 3 X 3 Qdeag 0RF ?

A) 36
B) 25
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Setld: 62467=50 BATCH3=D.EI.Ed. Qdia le
. lechofworld.In
D)9
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) In the Northern Hemisphere on the Earth it is winter in the month of December. Select the
CORRECT reason for this statement.

A
B
C
D

The Southern Hemisphere has an Antarctic polar region
The Northern Hemisphere has a Artic polar region

The North Pole of the Earth is tilted towards the Sun
The South Pole of the Earth is tilted towards the Sun

61) Qae1e aRQ 6aIRNISER F6ANQ AIAER 4§16 AQ 62IREIN | 1@ QIF] aidl AR FIRE 0aR @ag |

A) @84 6aIRIdeq PR 6AIRIA ZrOR BB
B) o sainiden 1@ 2166 yoia 686 08a

C) IR AR 60Q Y4 2eQ @F AR AR

D) qaeia @86 60Q Q44 20Q OF 6210 028

62) Approximately 70% of the oxygen in the atmosphere of the Earth is produced by

mngoves Techofworld.In

rainforests
mountains

A
B
C
D

62) Q1R QIYASRER Ik 70% AQRIF AAR 94

A) auigegIR
B) aig@e a@e
C) edieq
D) ade

63) Indian Constitution borrowed the idea of the Preamble from which of the following countries?

A) ltalian Constitution
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B) Canadian Constitution
C) French Constitution
D) Constitution of USA

63) Q1601 ARUIRER QIR JLILQ FOIA 694 6Q4Q TGIARLRI ?

A) asIQ afdIe
B) @IQieIq afuIR

C) eraugt gqe
D) 99918 2I6ARQIQ aAIR

64) The Samhita of the Rigveda is comprised of how many mandalas as per the Vedic Literature?

»ee 1 €ChOfworld.In
) Ten
D) Eleven

64) 63QQ AITGY QUL 6R6CIT N9RF 7R QUEITQ A°2a! G107

A) 210
B) qa
C) ea
D) uQied

65) The Rio Convention endorsed the global forest principles and adopted which of the following
options?

A) Agenda-19

B) Agenda-20

C) Agenda-21

D) Agenda-25

65) 66 QFee1 ¢2010 SR F16Q AR AR I FIAYE FRFYER AUQ 6REE goda @Rl ?

A) ewal -e ¢
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B) w684l -90
C) 684l -9¢
D) w684l -98

66) When oceanic crust converges with continental crust, the denser oceanic plate plunges beneath
the continental plate. This process is known as

A
B
C
D

Dispensation
Subduction
Demnification
Surrection

66) cacesese ARIAIGRIA AR 26 ARIAIGKIA PRA 19 24, AR AVAAGNIA 696 AINQIA 696, QI ¥IAN | 12 GRA SaIgE!

67) Which of the following options is an example of 'Holding Together Federation'

A) USA

B) Switzerland
C) Australia
D) India

67) 59Rge FeegFe NQ 6R4E ‘6RING® gEUIRR 6TERERUR A IR QIR ?

A
B
C

D

L2UY AR
RIS
aeqnal
QWAL

— N S S

68) of the Indian Constitution is an appendix or annexure highlighting the lists or details
in the main text?

A) Part VI
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B) Preamble
C) Schedules
D) DPSP

68) ee1a AAIGE 0G9] QI AERFR ATAAAAAATA QY AIOIR CIRR! AR FLAAIQ 2CARE *QF ?

A) €16 06
B) 999

C) @Idige
D) 66ad

69) Which among the following options is an imaginary line that has zero degrees latitude and that
divides the Earth into the Northern and Southern hemispheres?

A) Prime Meridian TeCh OfWO rl d - I N

B) Equator
C) Arctic Circle
D) Antarctic Circle

69) GqRge FRIYFR AIQ 6RUE IR FFR 6ad AIRIA §RY g1 AAFE AT I JARIQ AR Y A/ CANINER TN FRAI ?

A) 28 2@l
B) anieas

C) 2196Q 98
D) zreidce Q&

70) The first person to observe individual Satyagraha was ?

A) Vallabhbhai Patel
B) Vinoba Bhave

C) Mahatma Gandhi

D) Govind Ballabh Pant

70) 9N Q4B D9 Qudae Acligeq AR ?

A) 9998 T66R

B) 3601QI Q169
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C) a1QIg)l Q1
D) s9ide eq@ a3

71) In Ancient India, the term 'Nishka' is a name given to which among the following options?

A) Tax for agriculture
B) Tool for wood cutting
C) Currency coins

D) A special wheat crop

71) QI1R RIRGER, ‘AR IRT 6268 IR QIF QI FIRYE IRLGER AUQ 6RAAING JAAN?

naaswe 1 €ChOfworld.In

B) Q10 Q159! Ol QUK
C) fa&e Q9!
D) 9@ G689 929 AR

72) Which of the following is CORRECT about Biosphere Reserves in India?

A) There are 19 biosphere reserves

B) Itis an intra governmental programme of UNESCO

C) Buffer and transition zones are not part of the biosphere reserves
D) It maintains cultural values

72) 5RY0 AIQ 6246 AINEER QCAITUQ PR Faa6a A0R 6NN ?

A) Q62130 Tae € T 088
B) 2/ Q6R6AIQ 1@ UIGL AQRIA QIAIQA

C) 996 4&° GIRFAR 6917 QI6AIALQ TSR radeas Q6
D) 2! ArgEQ ARIEIIIG ORI 6

73) What were some of the subjects that were transferred to the Concurrent list from the State List
in 19767

A) Weights and measures
B) Public order

C) Public health and sanitation
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D) Betting and gambling

73) 2099 60 QIR GINRIQ ANFE CIRRIQ FIRISEE 6RARYR FAAYER @€ QI ?

A) 68 9e° aig

B) eeariad

C) eeaigy we* a8ae
D) 696" & g

74) Which of the following options is the name of the place or point where the Equator meets the
Prime Meridian?

A) Greenwich Observatory in England

B) Bali Island in the Pacific Ocean

C) Samos Island in the eastern Aegean Sea
D) Null Island in the South Atlantic Ocean

74) GeqIe Geagee AuQ 6048 QIP Al 39Q Q1A 630K YAIERdl g ATAIQ eadala ?

A) R86a GIRGE 2RREAESIRN Te C h OfWO rI d . I n

B) 9419 ARIAINGEA QIF Q10
C) 9€ 9R2IQ AGRER AIEAIA Q1A
D) @84 ASAreR ARIAINRER *R Q19

75) Who founded the Independence League?

A) Mahatma Gandhi
B) Lala Lajpat Rai
C) Rash Behari Bose
D) Motilal Nehru

75) eréscreeq G @4 goal @d8en ?

A) C121€)l SIS
B) ainl AIgae Qg
C) @@ Qeia1 6918

D) 6FIGRIA 652Q
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Section 8 - Paperll-Science

No. of Questions: 15

76) Name the reagent which can be used to undergo the desired reduction reaction of carboxylic
acid to alcohol.

A) NaBH4

B) KMnOa4

C) LiAlHa4

D) CrOs

76) 21062060 QISR 130 A 1A gOGAIQ QIeRIa GARIQ SIELE 62029l B46e*e @ QNG @4 |

A) NaBH4
B) KMnOx4
C) LiAlH4

D) CrOs

77) Which of the given solid material is paramagnetic in nature?

v Techofworld.In

C) Ni
D) FeO

77) 99 @08 GQle]q_{iQ RIQ 6RQS ga6Q aliniegde 26T ?

78) According to the work-energy theorem, the work done by the net force on a particle is equal to
the change in its

A) kinetic energy
B) potential energy
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C) linear momentum
D) angular momentum

78) QIY-43 RAAIYY 2QAIA1, IR *8QI AA6A AFLIA AF FIAI AR QUMY I2IQ 62UY6R VGRS AT AAIF?
A) 96 63

B) 8%c @@

C) edig@ 9@

D) eaig11a 61

79) The are group of plants and animals with similar traits of any rank.

A) Taxon
B) Species
C) Genus
D) Order

79) 69 63163 QIRYIQ AR FAINE ARE 28R Ie° JEININSS 6AIF! 6208 ATAAAAA

»eee 1 €Chofworld.In
B) 9=16q4e
C) &4
D) &9

80) Which of the following is an example of free floating hydrophytes?
A) Hydrilla

B) Wolffia

C) Chara

D) Utricularia

80) G9Rge AuQ 694E g8 NANIR LARELITINCR IR AQILAE 26T ?

A) 2108l
B) @adal
C) ael
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D) geqaaal

81) Which among the following will be the product formed when excess HBr reacts with propyne?

A
B
C
D

1,2-dibromopropane
2,2-dibromopropane
2-bromopropene
3-bromopropene

81) 6a60696w 26GS A0 6gIAIRR A6 ORI Q6Q AAYS MIQ 609 AYT 9§ 629 ?

A) ©,9-86Ql6nI6gi6an
B) 9,9-G6glencgiean
C) 9-6gl6A16gican
D) M-6Qi6A1QI6aR

82) What will be increasing order of the densities of gases D (d1), E (d2) and F (d3) having increasing
molecular weights as M1 > M2 > M3?

w2 1 €ChOfworld.In

B) d2 <d1<d3
C)d3<d2<d1
D)d1 <d3 <d2

82) M1 > M2 > M3 quesa a@fe adgaia e 891 D (di1), E (d2) ve F (d3) cuiagées arqe @86 @0 @' 629 ?

A)d3 <d2<d3
B)d2 <d1<d3
C)d3 <d2<d1
D)d1 <d3<d2

83) A stone projected vertically upwards from the ground reaches a maximum height h. When it is at
a height 3h/4, the ratio of its kinetic and potential energies is

A) 3:4
B) 1:3
C)4:3
D) 3:1
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83) @ﬁ@ W] VWA AR Q694 QALK @ AR Qéléjﬁ? h Q@QI6Q dL¥EE | 606066 92l 3h/4
QYA 2T 6LELEER ILIQ JOT IQ° KT I (16 AFUIC 698

A) 3:4

B) 1:3

C) 43

D) 31

84) It is expected that adoption of Golden Rice will serve as a source of vitamin A through

A) Vitamin C

B) Beta carotene
C) Biotin

D) Lysine

84) 21461 QAIAIN 64 6AINEER AINQA F4 FEQI ATAAAAAAAAATAD ARINER SIFR 9 @ 2T A6 QY @6@ |

nema 1 €CHOfworld.In

B) ¢ @i6aidq
C) QIeaide
D) fiasae

85) The central part of the proximal region of which of the following is proteinaceous and called as
hub?

A) Nucleus
B) Centriole

C) Ribosome
D) Plastids

85) g3aIR 2reea 6210 2ra 3¢ FRIQ Q4T 6208 6gI5693Q Ie° I2IQ 20 QRIAN ?

A) R4q0Q
B) srgea
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C) aiasei6Qif]
D) a8e

86) Which of the following plants has breathing roots?

A) Peas

B) Orchids
C) Cuscuta
D) Avicennia

86) 39Rge adegle MmIQ 6Ruca 7gIa-gqIa 69 28 ?

»w 1 echofworld.In

B) z@e
C) 238!
D) zi@sadal

87) Which among the following is true regarding Boyle temperature for real gases?

A)
B)

C)

D)

It is a temperature at which real gases will behave ideally over a wide range of pressure

It is a temperature at which real gases will show positive deviation from ideality over a wide
range of pressure

It is a temperature at which real gases will show negative deviation from ideality over only a
small range of pressure

Itis a temperature at which real gases will show no both positive and negative deviation ideality
over a wide range of pressure

87) Gu quIa @ 69MR SIAAIQI FA6Q FYAYE MRIQ 6RWT AGY 26E ?

A)
B)
C)
D)

2! IR QITNIGI 6TWER SR QUIA FAQ GRS QA RACR AR AICRE @GR

2! IR QINIGI 6QRER SR QUIA 38 QA AAER AIRHQ ARTR T6YE cuIeR

21 9@ QIANIGI 6ANYER GAR QUIA 699 AR AR QA AR AHQ 6F60TR TP 62¢IRR

2! IR QIANIGI 6ANYER SR QA 38 QA RACR ANA ARTR I 6R6ATH CENIAR INEEAT 62 AT

88) A projectile is fired from the surface of the earth with a velocity of 5 m/s and angle 6 with the
horizontal. Another projectile fired from another planet with a velocity of 3m/s at the same angle
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follows a trajectory which is identical with the trajectory of the projectile fired from the earth. The
value of the acceleration due to gravity on the planet is (Given, g = 9.8 ms?)

A) 5.9 ms™
B) 16.3 ms™

C) 110.8 ms™
D) 3.5 ms™

88) 5 m/s 6296 Y9° 2QUY NIIEA 6 6AEER IR 6TACIY RYIR FETA FAITRI | AR IQ F2Q AR 4@

6RT4IY 3m/s 6966Q AR 6QIEER YALIYIR F6TA RN 6VAGIYQ AGFY Y6TAE A 2GANE F6Q
| 926 JRRIAdd QIR RAA AIR 6298 (991, g =9.8 ms?)

nsemsz 1 €CHOTworld.In

B) 16.3 ms?2
C) 1108 ms?
D) 3.5 ms™2

89) How many types of essential vitamins are there?

A) 8
B) 10
C)13
D) 15

89) cas0 geion Zeveaie feifie 28 2

A)r
B) Qo
C) e
D) ¢8

90) Centrioles are composed of grouping of microtubules arranged in

A) 8+4 pattern
B) 6+6 pattern
C) 9+3 pattern
D) 6+3 pattern
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90) 6rdoa JE@ 1ad afe 621a AIRERICIRPRa gia Qial 906 F2T |

A) I + % 8gal TeChOfWOrId.In

B) 9 + 9 /gl
C) ¢ + M egel
D) 2 + N KQRl
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1| B 31| D 61 | D

2|A 32 (B 62 | B

3|B 33(C 63 | D

4D 34| C 64 | C

5|B 35(A 65| C

6| D 36 | B 66 | B

7|8B 37| A 67 | D

8|C 38| D 68 | B

9A 39|B 69 | B
10| C 40 | C 70 | B
11 |B 41 | D 71 | €
12 (D 42 | A 72| B
13[A 43 | D 73| A
14 [ A 44 | D 74 | D
15 | C 45 | A 75 | C
16 | B 46 | A 76 | C
17| € 47 | A 77 | A
18 | C 48 | B 78 | A
19 | D 49 | C 79 | A
20| C 50| C 80 | B
2l | C Al | £ 81 | B
22| B 52| D 82| C
23 | A 53|B 83 | B
24 | A 54|D 84 | B
25| B 55|D 85 | B
26 | A 56 | C 8 | D
27 | A 57| € 87 | A
28 | C 58| A 88 | D
29| B 59|C 89 | C
30| C 60 | A 9 | C
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